SH™xE Z™AMLE) fFE@/min) | FESE(/co) HdEMH

SR BA M 240 10.033 0.002 7|&X| o3t
FXBAH2 240 10.046 0.002 7|=X| O[5t
X ZA M3 240 10.067 0.002 7|&X| o3t
FX|BA 4 240 10.049 0.002 7|=X| O[3t
QA A H| QT 40 10.079 0.003 7| &=X] 0|5t
Sot7| 27 |H =T 40 10.061 0.003 7| &X] o5t
Sot7| 27 |HIE T2 40 10.063 0.003 7| &X] o5t
27|13 7|HE 3 40 10.038 0.002 7|&X| o3t
27| 27|HE T4 40 10.016 0.003 7|=*X| ofst
Sty 27|HE 75 40 10.060 0.003 7|&X| o3t
So7|37|H1=E 6 40 10.066 0.002 7|&X| o3t
7| =T 40 10.047 0.002 7|ZX| o5t
H 7| 228K &1 40 10.045 0.003 7|=X| o3t
H7| 223K H2 40 10.024 0.003 7|=X| o5t




Z™YUA| : 2019. 08. 06 3t Y

AMEH=D EX-E R SFEMHE) | | W/min) |  FESECN/m) | =3t E
F-01 1F 3 100 10.040 0.005 7|Z=X| o5t
F-02 F A™A 100 10.055 0.004 7|&X] o5t
F-03 1F IpsHA 100 10.026 0.005 7|&X] o5t
F-04 1F M3 100 10.045 0.004 7|=X| o|st
F-05 1F Oj&4 100 10.070 0.006 7|&X] o5t
F-06 1F Ega 100 10.057 0.005 7|=X| o|st




